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Solutions
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2. How are the parabolas f(x) = —3(x — 2)* — 4 and
g(x) = 6(x — 2)* — 4 the same? How are they different?
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3. Whar point do the parabolas f(x) = —2x* + 3x — 7 and

g(x) = 5x> + 3x — 7 have in common?
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4. Determine the equation of the parabola with x-intercepts

b) 0and 8, and that pass ough (—3, —6) .
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5. Determine the equation of the parabola with vertex
b) (1, 6) and that passes through (0, —7) ¢) (4 —5) and that passes through (—1, —3)
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8. Determine the equation of the parabola with x-intercepts =4 and passing

K] through (3, 6).
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12. Jason tossed a ball over a motion detector and it recorded these data.

Time (s)
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a)  Draw a scatter plot of the dat.
b) Dra e of goo df'
<) Der alg bra
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n that models the data. Express the

anda df orm.
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